Taxes and deadweight costs

As far as taxes on economic activity are concerned, it is always useful to refer back to good old-fashioned supply/demand charts. In the absence of taxes, supply and demand curves cross to reach the optimal equilibrium market price and quantity. The grey shaded area shows the value of economic output:
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In the absence of any taxes or National Minimum Wage, the economy would be running at its optimum/equilibrium.

Effect of turnover/value-added taxes
As soon as a tax on economic activity is introduced, especially where the supply and demand curves are price elastic, for example VAT (that is added to the price charged for goods and services), the grey shaded area shrinks significantly. 
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VAT does not just make things more expensive for the consumer, it also reduces the price received by the producer and overall output is depressed. The precise impact depends on the price-elasticity of supply and demand and the tax rate involved.

Politicians and academics say that VAT is a ‘consumption tax’, which misses the point. Things like raw materials and fossil fuels are consumed once and for all, so there is a good argument to say that these should be taxed to preserve scarce resources and help balance of payments (the UK imports most raw materials, especially oil and gas). If VAT were a true ‘consumption tax’, it would (for example) not be levied on second hand goods.

But in a service economy, consumption and production is the same thing. Consider a hairdresser over the VAT threshold (currently £64,000). If you pay him £10 for a hair-cut, he has to pay £1.49 in VAT and has a net profit of £8.51, on which he pays 41% income tax/Class 4 National Insurance (‘NI’). So the extra income he receives for doing one extra hair-cut is £5.02 – an effective tax rate of 49.8%. The customer does not care that technically he has paid £8.51 for the hair-cut and £1.49 in ‘consumption tax’. Neither does the hairdresser care that he has to write two cheques, one for £1.49 for VAT and one for £3.49 for income tax/Class 4 NI.

Effect of payroll taxes, i.e. Employer’s National Insurance
The simple and probably correct view is that people work for their net wages (they are indifferent between a tax-free bonus of £6,700 or a £10,000 subject to tax/NI at 33%). Of course, employers get tax relief for salaries paid out. So paying a basic rate employee a net wage of £67 (£100 less £22 tax and £11 Employee’s NI) costs UK plc £79 after tax (£100 plus £12.80 Employer’s NI, less 30% corporation tax relief), so the ‘wedge’ is about 15%. This figure of 15% is similar, conceptually and mathematically to the Employer’s NI of 12.8%, so Employer’s NI can serve as a good proxy for the ‘wedge’.

The same principle applies here as for VAT, only instead of “lost output” we have unemployment.
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If corporation tax and taxes on wages were harmonised at the same rate, then there would be no ‘wedge’. The net wage received by the employee would be the same as the post-tax cost to the employer and there would be much less tax-induced unemployment.
If we imagine that the hairdresser from the previous section is at full capacity, and so asks a basic-rate employee to cut the customer’s hair. The highest gross salary he can pay (without making a loss) is £7.54 (£7.54 plus 12.8% Employer’s NI = £8.51). Of the £7.54 gross, the employee nets 67% or £5.05, a total tax rate of 49.5% when compared with the £10 that the customer handed over. The fact that the employer now has to calculate and pay four different taxes (VAT, Employer’s NI, Employee’s NI and employee’s PAYE) just adds to the overall misery.

The National Minimum wage also causes unemployment at the very bottom of the labour supply curve, as it makes low-productivity jobs illegal.
Corporation tax

Most discussions of business tax reform centre on corporation tax, even though taxes on profits (corporation tax or income tax) are far from the worst taxes (they only have to be paid if a business is profitable) and so do not have such a damaging effect on economic activity and employment as VAT or Employer’s NI (as shown in the previous sections). 
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Many say that corporation tax should be zero, and profits should not be taxed until they are paid out as dividends. Notwithstanding the inevitable evasion that this would trigger (se for example, the £10,000 nil-rate band that we had for a few years), this misses the point that reinvested profits are not taxed at all.

Under our tax system, companies can (by and large) claim a full 100% deduction for all 'profits' that they reinvest, i.e. market research, product development, recruitment, staff training, advertising and so on. So by definition, the tax rate on reinvested profits is (by and large) 0%.

For historical reasons some types of expenditure get no relief (which could be easily fixed), and relief for expenditure on plant and machinery is spread over a number of years, but this is all pretty marginal. Larger businesses claim roughly as much in capital allowances as their accounts show in depreciation, which we can take to be the true commercial cost.

So it is important to distinguish between 'reinvested' and 'retained' profits’. It is only ‘retained’ profits that are taxed at 30%. A large mature business (e.g. a power station) does not need to reinvest much above and beyond running repairs, so corporation tax does not really affect them. Such businesses should either be paying out surplus cash as dividends or investing in research in technology improvements (for which it can claim tax relief), they should not be encouraged to build up huge cash piles. In particular, if they are taken over by a group based in another EU country (which is the case for a large part of our utilities), then under EU rules we cannot impose a tax on dividends anyway. The UK would get no tax whatsoever.

Site value rating
Please note, SVR is conceptually different from Business Rates, which is levied on the rental value of land and the buildings on them. SVR would be applied to site-only location values.

So as the above tables show, where supply and demand curves are price elastic, taxes significantly depress economic activity, there are high deadweight costs. The picture is different if the supply curve is price-inelastic, in other words, if supply is more or less fixed. Land values (i.e. site-only location values – excluding buildings and improvements) is a good example of this.
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Adam Smith and Milton Friedman both said that the advantage of taxes on land values was that land is fixed in supply (and so production will not be depressed) and it cannot be moved abroad; it is difficult to evade. Which in the modern world misses the point, actually. Land in itself is pretty irrelevant, what matters is location and planning permission. Location values can be created, although it is a slow procedure – see for example Docklands in East London. A site with planning permission for a ten-storey building is probably worth twice as much as another site with planning permission for a five-storey building..
A landowner cannot influence the number of desirable locations, as this depends on the actions of the State (providing transport infrastructure to increase number of desirable locations, or being restrictive with planning permission to reduce the number of desirable areas) and society as a whole (‘agglomeration’).

Under the UK’s current system, a landowner makes little or no direct contribution towards the cost of infrastructure etc. With SVR, the owners of locations that benefit from the actions of the State or society as a whole make a direct contribution. Thus SVR is a fair tax, being more like a user charge than a true tax.
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